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Updated Gun 

E > 50 MV/m 

E = 10.07 MV/m 

E = 12 MeV/m 



Danny’s Shed 

 E > 40MV/m 

E = 12.5 MV/m 



Shed 

E = 20MV/m 

E = 15MV/m 

E > 40 MeV/m 



Shed 

 

 

 

E = 26 MV/m 

E = 11 MV/m 

E = 70 MV/m 



Shed 

 

E = 8 MV/m 

E = 8 MV/m 

E = 12 MV/m 



A Good Shed 

 



A Good Shed 

• r1 = 1 cm 

• r2 = 2.5 cm 

• r3 = 9.5 cm 

• 3 mm gap 

E = 8 MV/m 10.5 MV/m 

9.5 MV/m 
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Voltage along the Surface 

Receptacle Insulator 



For Carlos 

1.1 MV/m 

3.6 MV/m 

0.6 mV/m 

0.4 MV/m 

2.1 MV/m 

0.5 MV/m 

8 MV/m 
8 MV/m 


